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Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
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The simple circular-flow diagram illustrates that

a. production generates income 0 that income and production are the same.
b. the economy's income exceeds its production.

c. the production of an economy exceeds its income.

d. None of the above are necessarily correct.

Y/L is
a. productivity.
b. output.

¢. the availability of natural resources.
d. the amount of human capital.

Stock indexes are

a. the average of a group of stock prices.

b. the average of a group of stock yields.

c. reports in the newspaper that report on the price of the stock and earnings of the
corporation.

d. measures of the risk relative to the profitability of corporations.

A closed economy does not

a. trade with other economies.

b. have free markets.

c. allow immigration.

d. All of the above are correct.

The labor-force participation rate measures the percentage of the

a. total adult population that is in the labor force.

b. total adult population that is employed.

c. labor force that is employed.

d. labor force that is either employed or unemployed.

When the Fed conducts open market purchases, bank reserves

a. increase and banks can increase lending.

b. increase and banks must decrease lending.

c. decrease and banks can increase lending.

d. decrease and banks must decrease lending.

Prices direct economic activity in a market economy by

a. influencing the actions of buyers and sellers.

b. reducing scarcity of the goods and services produced.

c. eliminating the need for government intervention.

d. allocating goods and services produced in the most equitable way.

Who is it that ultimately determines the demand for a product or service?

a. those who buy the product or service

b. the government - .

c. the producers who create the product or service

d. those who supply the raw materials used in the production of the good or service
For a firm in a perfectly competitive market, the price of the good is always

a. equal to marginal revenue.

b. equal to total revenue.

c. greater than average revenue.
d. All of the above are correct.
The GDP deflator is the ratio of *‘ ﬁ,ﬁ{&ﬁ’a&:@ﬁ‘l
a. nominal GDP to real GDP multiplied by 100.

b. real GDP to nominal GDP multiplied by 100.
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¢. nominal GDP to real GDP.
d. real GDP to nominal GDP.

Which of the following would not be considered physical capital?

a. acomputer used to help Mercury Delivery Service keep track of their orders
b. on-the-job training

c. anew factory building

d. a desk used in an accountant's office

A decrease in the money supply creates an excess

a. supply of money that is eliminated by rising prices.

b. supply of money that is eliminated by falling prices.

¢. demand for money that is eliminated by rising prices.

d. demand for money that is eliminated by falling prices.

The efficient markets hypothesis says that

a.  individual investors with no insider information can make no money in the stock market.
b. it should be difficult to find stocks that are not correctly valued.

¢c. stock prices do not follow a random walk.

d. All of the above.

In addition to advising the president, one duty of the Council of Economic Advisors is to
a. prepare the federal budget.

b. write government regulations.

c. advise Congress on 6cONOmic matters.

d. write the annual Economic Report of the President.

Whether a good is a luxury or necessity depends on

a. the price of the good.

b. the preferences of the buyer.

c. the intrinsic properties of the good.

d. how scarce the good is.

A key determinant of the elasticity of supply is

a. the ability of sellers to change the price of the good they produce.
b. the number of firms in the market.

¢. how responsive buyers are to changes in sellers' prices.

d. the ability of sellers to change the amount of the good they produce.
Producer surplus equals

a. Value to buyers - Amount paid by buyers.

b. Amount received by sellers - Costs of sellers.

c. Value to buyers - Costs of sellers.

d. Value to buyers - Amount paid by buyers + Amount received by sellers - Costs of sellers.
In calculating accounting profit, accountants typically don't include

a. - long-run costs.

b. sunk costs.

c. explicit costs of production.

d. opportunity costs that do not involve an outflow of money.

When a monopolist decreases the price of its good, consumers

a. continue to buy the same amount.

b. buy more.

c. buyless.

d. may buy more or less, depending on the price elasticity of demand.
A firm in 2 monopolistically competitive market operates

where marginal revenue is zero.

where marginal revenué is negative.

on the rising portion of its average-total-cost curve. £
on the declining portion of its average-total-cost curve. PE“
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